

$$1! \cdot 1 + 2! \cdot 2 + 3! \cdot 3 + 4! \cdot 4 = 120 = 5! \quad 2! \cdot 2 + 3! \cdot 3 + 4! \cdot 4 = 72 = 4! \quad (1)$$

$$5 \times 4 = 20 \rightarrow \boxed{20} \text{ نمره}$$

✓

$$(الف) \quad (\sqrt{1+\sqrt{5}})^2 \rightarrow \int (1+\sqrt{5})^2 \rightarrow \int 1+2\sqrt{5} \times \int \frac{1}{1+\sqrt{5}} = \sqrt{5} \quad (2)$$

$$(ب) \quad \frac{(\sqrt{2}+\sqrt{5})}{\sqrt{2}-\sqrt{5}(\sqrt{5}+\sqrt{2})} \times (\sqrt{3}-\sqrt{5}-\sqrt{2+\sqrt{5}}) = \frac{\sqrt{4-2\sqrt{5}}}{(\sqrt{5}-1)^2} - \frac{\sqrt{4+2\sqrt{5}}}{(\sqrt{5}+1)^2}$$

$$= \frac{-1}{2} = \frac{\sqrt{5}-1-\sqrt{5}-1}{2}$$

✓

$$(الف) \quad \frac{2\sqrt{2}+2\sqrt{3}}{\sqrt{5}-\sqrt{4}} \times \frac{\sqrt{5}+\sqrt{4}}{\sqrt{5}+\sqrt{4}} = \frac{12(\sqrt{2}+\sqrt{3})}{5-4} = \sqrt{2}+\sqrt{3} \quad (3)$$

$$-2 \left(\frac{1}{\sqrt{2}-1} \right) \times \frac{\sqrt{2}+1}{\sqrt{2}+1} = \frac{-2(\sqrt{2}+1)}{1} = -(\sqrt{2}+1)$$

$$\rightarrow \sqrt{2}+\sqrt{3}-\sqrt{2}-1 = \sqrt{3}-1$$

$$(ب) \quad \frac{2\sqrt{2}-1}{1+\sqrt{3}} \times \frac{1-\sqrt{3}}{1-\sqrt{3}} = \sqrt{3}-1 \quad \left\{ \begin{array}{l} \frac{1}{1-\sqrt{3}} \times \frac{1+\sqrt{3}}{1+\sqrt{3}} = \frac{1+\sqrt{3}}{1-3} = 2+\sqrt{3} \end{array} \right.$$

$$\sqrt{3} + \sqrt{3} + 2 - 1 = 2\sqrt{3} - 1$$

✓

$$(الف) \quad \left(\frac{\sqrt{1+\sqrt{3}} + \sqrt{3}-1}{\sqrt{\sqrt{3}-\sqrt{2}}} \right)^2 - 2 = \frac{1+\sqrt{3}+\sqrt{3}-1+2\sqrt{2}}{\sqrt{3}-\sqrt{2}} = \frac{2\sqrt{3}+2\sqrt{2}}{\sqrt{3}-\sqrt{2}} \quad (4)$$

$$\frac{2(\sqrt{3}+\sqrt{2})}{\sqrt{3}-\sqrt{2}} \times \frac{(\sqrt{3}+2)}{(\sqrt{3}+2)} = \frac{2(\sqrt{3}+2)^2}{3-2} = 2(\sqrt{3}+2)^2 = 4\sqrt{4}+16$$

$$\sqrt{4\sqrt{4}+16} = \sqrt{(2+\sqrt{4})^2} = 2+\sqrt{4}-2 = \sqrt{4}$$

✓

$$(ب) \quad \frac{1}{1} \times \frac{1}{1} \times \frac{1}{1} \times \frac{1}{1} = \frac{1}{1} \times \frac{1}{1} = 1^2 \times 1 = 1 \times 1 = 1$$

$$\frac{2^2(1+3+9+27+81+243)}{2^{2-1}(1+2+4+8+16+32)} = \frac{2^2 \times 3^5}{2^1 \times 4 \times 4} = 52 \Rightarrow 2^2 = 4 \quad (5)$$

$$\boxed{2^2 = 4}$$

✓

$$a^r + b^r + t \rightarrow (t - rab)^r (t + rab)^r = (t^r - ta^r b^r)^r \rightarrow (a^r + b^r + \frac{ra^r b^r - ta^r b^r}{-ra^r b^r})^r \rightarrow (a^r - b^r)^r \rightarrow (\sqrt{\sqrt{4} - 2} - \sqrt{\sqrt{4} + 2})^r \quad (4)$$

پایین صفحه: (1)

$$(a + \frac{1}{a})^r - r = r^t \quad a = \sqrt[r]{v + t\sqrt{r}} \Rightarrow a^r = v + t\sqrt{r} \Rightarrow \frac{1}{a^r} = \frac{1}{v + t\sqrt{r}} \quad (5)$$

$$\rightarrow (a^r + \frac{1}{a^r} - r)^r = a^r + \frac{1}{a^r} + r = r^t \rightarrow v + t\sqrt{r} + \frac{1}{v + t\sqrt{r}} + r = r^t$$

$$\frac{t^2 + 4t - 24\sqrt{3} + 1 + 1t - 1\sqrt{3}}{v - t\sqrt{r}} = \frac{11t - 4t\sqrt{3}}{v - t\sqrt{r}} = \frac{14(v - t\sqrt{r})}{(v - t\sqrt{r})} = r \Rightarrow t = r$$

$$A = r^{\frac{r}{r}} \times r^{\frac{r}{r}} = r^{\frac{r}{r}} = r \Rightarrow (1)^{-\frac{1}{r}} \rightarrow (r)^{-\frac{1}{r}} = \frac{1}{r} \quad (6)$$

$$\frac{1}{a^r} = r v \times a^{\frac{1}{v}} \rightarrow 1 = r v \times a^{\frac{1}{v}} \rightarrow 1 = r v \times a^r \rightarrow a = \frac{1}{\sqrt[r]{rv}} \quad (7)$$

$$\frac{(\frac{1}{a} - r)}{\sqrt{r} + 1} \rightarrow \frac{r\sqrt{r} - r}{\sqrt{r} + 1} \times \frac{\sqrt{r} - 1}{\sqrt{r} - 1} \rightarrow \frac{r(\sqrt{r} - 1)^2}{r} = \frac{r \times r(1 - \sqrt{r})}{r} = \frac{4 - 4\sqrt{r}}{r}$$

$$(\sqrt{x+a} - \sqrt{x-t})(\sqrt{x+a} + \sqrt{x-t}) = (x+a - x+t) = r(\sqrt{x+a} + \sqrt{x-t}) \quad (8)$$

$$a + t = r(\sqrt{x+a} + \sqrt{x-t}) \rightarrow \frac{a}{r} + r = \sqrt{x+a} + \sqrt{x-t}$$

$$\sqrt{x+a} + \sqrt{x-t} - r = \frac{a}{r} + r - r = \frac{a}{r} \quad (9)$$

4- اداً :

$$(\sqrt{\sqrt{4}-2} - \sqrt{\sqrt{4}+2})^4$$

$$(\sqrt{4}-2 + \sqrt{4}+2 - 2\sqrt{(\sqrt{4}-2)(\sqrt{4}+2)})^2 = (2\sqrt{4} - 2\sqrt{2})^2$$

$$4(4+2 - 2\sqrt{12}) = 14(2-\sqrt{3})$$

$$t=14$$